= o
A 2 0l & A &2 & Al A
20148 S0a LA MsdsSW
R s R SE=an);
Hu: Asmol HRHE
ool ASEE CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
H=sd s 44,409,078 36,119,422 8,289,656
& 12,920,000
J| 2,055,234
< 29,433,844
AsH H=sE 43,862,311 35,571,655 8,290,656
& 12,920,000
J| 2,055,234
< 28,887,077
HsdE 9,967,266 9,081,954 885,312
Hsge XA 16,600 14,100 2,500
201 Let24d] 4,500 4,500 0
01 At 22/l 4,500 4,500 0
Oget=gH| 4,500
-t F &= ZH| 4,500
202 (44l 6,100 3,600 2,500
01 SLHOYI 6,100 3,600 2,500
O&=HM&+=2 Wt 3,600
O&EIHMEBAE LHZEZA HHI 2,500
203 AR EF Y| 6,000 6,000 0
03 A FAH S =AY 6,000 6,000 0
ONMSHUELRFY 6,000
S 2SZJI2 22l 2,227,635 2,075,454 152,181
201 2Bt | 223,000 207,400 15,600
01 At 22l 176,360 160,760 15,600
Oul=l 38,960
—ds2sE 32,800
- REEHEE 6,160
ogxz 137,400
-—SdE8Edd gz 24,000
-2SZIRIEXNZE AR 51,000
-2sZJIEsAURE 62,400
02 =224l 46,640 46,640 0
O=323<HA 27,360
-2SZIR=SASERS 27,360
Ozl 6,080
-2 AZY 6,080
OXt& & Byl 13,200
- dEXERRU 10,000
- I EERZH 3,200
206 T 24 51,362 51,362 0




X

2N
X ZH -

100
Kl
0l

R

00 37 1olo
KJ R KJ

1o
r

o

r
0

X

el

— — o o o o o — — — o o o o o (]
[e o] 0] o o o o o ™ (o) ™ o o o o o
0| ™ & || S S 0@ o S |3S N |||«
A S QNN R s S| |e SRS A
Klo - < JF | b |b 319
E
E=]
Al Al [aN) o o o o o o o o o o o o
[{e) ()] (@)) o o o o o o o o o o
[ep] [ee] 0] o o o o o o <t < < o
= < |o = o |6 |w o |o N N N =
Yo o o N N~ N~ N~ (e} (e} (o)} ()] (o)} o
H3r SRS S Rl Rt = |- === ©
RS
[eN] Al [aV] o o o [ep] o™ [ep] (o] o o o o o o (@) o o o o o o o o o — — — o — o o o o o o o o
[{e) O N~ [oe) — o N~ N~ N~ Al [de) o o o <t o Y] o o o o (@] o o o o ™ ™ ™ o [ap) o o o o o o o o
» H LI NolNlda ¥ N9 ST 0o dooSlT|lTT Rl d|g|aln s o|oldSle|lo|e oS
— — N [aV) (] w [ep] [ap) o [aN] ()] (<] o (<o) (e)) o (@) o (o] [<o] N N [aV) <t < <t [Tg] o o Al N~ ) Y] ) — by — — o
Yo Yo} N — — Yo Yo} Lo D ™ (&)} < — < — (e} — — — — [Te) ()] [©)) [Ye) ™ © © (<] o o o o o
® | o o = ~N|le e o @ N |Q |8 & |©
Ir - | = = = © | |[© — v
<
=)
or
=)
BJ
D
=
I+ o
= 0 D
. 5 H B o
= %0 o oy 2 s al
= o+ = 30 =
i ~ Ww s 10 T 3 80 5 = o 100 o o
F 0 = o R B = ® <F T35 = Ki R =K K Ki =
1 o R0 |- W o ol T T Uk S O | |3 bl o | |o o iy "
o W 2 |® W <k o R o<k E O- 3 | %0 |ff W R |2 RIWIW S| || ul
B ==l ar oW R T T R o1 o Kl o o | I R |3 |m T = =G N = o
N T | Eou N R I Lo Lo N ER ) A pd AR AR :;a
R |= O al |s O 13| ol % al |l O 2l O|l=|a & i
5 — — o al | m — bl I N N — O |~ |«
(e] o — — o (e] o = o o o —_ o o
g & = | @ > S | & i3]
o+ rir 4 50 =




2N

H

=]

=R
Hu: Asmol HRHE
ool ASEE CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 XXM SO0l A 500,000 500,000 0
01 IXNHHBNEES 500,000 500,000 0
OANzZ2s3IIRXNE 500,000
SOAAE = KA 250,000 0 250,000
308 XtXIEHHSOIA 250,000 0 250,000
01 AXHHBIYEES 250,000 0 250,000
OEgNd 2gdl XN& 250,000
dMMEH=E 4,665,496 6,879,901 A2,214,405
J| 2,030,234
< 2,635,262
MEH=E K 1,500 0 1,500
202 44l 1,500 0 1,500
01 = LH 4 HI 1,500 0 1,500
Odl MMMz =20l 1,500
HEHSE 2 650,431 576,443 73,988
Jl 65,647
< 584,784
307 gl2tol & 650,431 576,443 73,988
J| 65,647
< 584,784
02 QIZtFAE XS 650,431 576,443 73,988
OoMax=s2I XA 650,431
J| 65,647
< 584,784
Mexs XNSX X 938,520 855,720 82,800
J| 898,656
< 39,864
307 glz2tol & 25,728 23,520 2,208
J| 12,144
< 13,584
02 BB AEXS 25,728 23,520 2,208
Og et & X = Xl & XHiH X 25,728
J| 12,144
< 13,584
308 XX EHH SOl A 912,792 832,200 80,592
J| 886,512
< 26,280
01 HXNHHBHEELS 912,792 832,200 80,592
UL ME S X S XX (AL 2) 912,792
J| 886,512
< 26,280
Hza Msgs X 771,848 547,354 224,494
J| 702,652




A HMEIEL
R EH: OIE=XO
(=R B

el AMMENSHE (el x2)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 69,196
307 21201 A 96,632 68,554 28,078
J| 46,876
< 49,756
02 I AEXS 96,632 68,554 28,078
O 44X =Xl & Xl X 51,456
J| 24,288
< 27,168
OZFEEZHEMENSUS 45,176
J| 22,588
< 22,588
308 XXM SO A 675,216 478,800 196,416
J| 655,776
< 19,440
01 IXNHHBNEES 675,216 478,800 196,416
O ME =X S XX (Al 2) 675,216
J| 655,776
< 19,440
SE=L MEXs X=X BiX 100,572 97,416 3,156
308 XX EHH SOl A 100,572 97,416 3,156
01 X HHILEES 100,572 97,416 3,156
OFE=ZUEMS X =T X 100,572
AZX2N 0/2A N 441,125 436,968 4,157
J| 363,279
< 77,846
308 X EHHSOIA 441,125 436,968 4,157
J| 363,279
< 77,846
01 HIXNHHNBMNEELS 441,125 436,968 4,157
Oax=24% 0184 X& 441,125
J| 363,279
< 77,846
MEHE CESEHES S4X3 60,000 56,000 4,000
307 glz2+ol & 60,000 56,000 4,000
02 QIZtFAEXZ 60,000 56,000 4,000
Os=gdgas4dXd 60,000
MEHs =208 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 B AEXRS 10,000 10,000 0
OMBUSNEHAB SN2 10,000
HENSE AKX &2t 12,000 12,000 0
307 21201 A 12,000 12,000 0
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FAM: HEdsh
X HERO
(=R B

Sel NSNS AE (cho): =9l
S2A-ZH () - HRAY - BES Oif &4 %Ei Hnsz
307 QI2+0l & 40,000 0 40,000
04 DIt AR X2 40,000 0 40,000
O XE N3 40,000
308 XHXI M S0l & 48,000 40,000 8,000
01 RXESHBARES 48,000 40,000 8,000
OSF =T X AN 2T & RHE 1 T4 3 48,000
HiEE X 24,000 24,000 0
307 ©I2+0I & 24,000 24,000 0
04 QIAISALR X2 24,000 24,000 0
OZ= T X ABIBIS O 3 9,000
OUMEHS2l D& 15,000
HAHE X 40,000 0 40,000
308 XXl &t X S0 & 40,000 0 40,000
01 RXESHMBARES 40,000 0 40,000
o) b EEIE 40,000
MEHSHT TVE 10,000 10,000 0
307 ©I2+0I & 10,000 10,000 0
04 QIS AL R X2 10,000 10,000 0
OMEHSERTVE 10,000
21 52 COSADA 20,000 20,000 0
307 QI2+0I & 20,000 20,000 0
04 QIIB AR X2 20,000 20,000 0
OE=gosMDA 20,000
=708 |1 ¢ X 46,000 46,000 0
308 XtXI S M SOI& 46,000 46,000 0
01 RXEBHBARES 46,000 46,000 0
OWK(GI X E )2l | 46,000
M2 L2URE X 70,000 70,000 0
308 XXl €M SOl & 70,000 70,000 0
01 RXESHBARES 70,000 70,000 0
OF =20 CH M & 70,000
e PN 100,000 100,000 0
308 XXl €M SO0l & 100,000 100,000 0
01 RXESHBARES 100,000 100,000 0
OSX A S S = MY 03l 100,000
DIEFIME N 5,000 5,000 0
307 QI2+0I & 5,000 5,000 0




2N
X ZH -
L= B
el

SA - BB B () - MM - BES Ol &t o San HmEET
04 BIZHHAIE RS 5,000 5,000 0
OSESZ XA IS DI CH S 5,000
Fad 2z 23EA 20,000 0 20,000
308 XtXIEHHSOIA 20,000 0 20,000
01 AXHHILEES 20,000 0 20,000
O=H & -5 d4L4 =25 =H 20,000
HAAT XS 20,000 20,000 0
308 AHAIEHHSOIA 20,000 20,000 0
T RAXNEHEHNEES 20,000 20,000 0
OZ X AHY HAAZXLH3 20,000
S=2SH HEE 100,000 0 100,000
307 glz2tol & 100,000 0 100,000
04 RIZIHAIE RS 100,000 0 100,000
Os=3H HWEE 100,000
Laths sx ¥ XA 20,000 0 20,000
308 XtXIEHHSOIA 20,000 0 20,000
01 IXNSHHBANEES 20,000 0 20,000
Odatisl X& 20,000
LM EE S 2,884,949 2,453,300 431,649
J| 25,000
< 2,859,949
AT MEAY 2,824,949 2,423,300 401,649
307 21201 A 2,824,949 2,423,300 401,649
02 2B AEXS 2,734,949 2,323,300 411,649
OAMEX2gHI 588,223
OZMAM=EE S A 1,471,446
O AZ=AMAER2A 575,280
Ot SEXE 100,000
04 BIZtHAIE RS 90,000 100,000 210,000
OZXIAtHH & = & 0 ! Xl = TH 2 70,000
OFMHA=IHAZ=NRE 20,000
ZOHolEOISMENSsE X& 60,000 30,000 30,000
J| 25,000
< 35,000
307 glz2tol & 60,000 30,000 30,000
J| 25,000
< 35,000
04 RIZIHAIE RS 60,000 30,000 30,000
OZOMEOtS MM =EU 60,000
J| 25,000




FM: HEAE
X HERO
(=R B —

Sl HOHOMSHE (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| | = 35,000
HESAE &= 26,211,600 17,059,500 9,152,100
2 12,920,000
< 13,291,600
SEAZXMH 29 2l 188,100 170,500 17,600
307 glz2tol & 188,100 170,500 17,600
02 QIZtFAEXZ 188,100 170,500 17,600
OssSAZIMH2ZE 2 188,100
MEHESISH =4 8,718,000 3,529,000 5,189,000
2 4,024,000
< 4,694,000
403 MtXISHHE X201 & 8,718,000 3,529,000 5,189,000
2 4,024,000
< 4,694,000
01 XM A=2EE 8,718,000 3,529,000 5,189,000
OFFLdgdEMN=ssaAxd 650,000
& 300,000
< 350,000
OFESUUENSSEAXY 758,000
& 350,000
< 408,000
OFEU=dEMSSAXYE 195,000
& 90,000
< 105,000
OZsdENsIIxZd 975,000
2 450,000
< 525,000
oOsgdeNssaxd 1,698,000
= 784,000
< 914,000
OsdadEdNsIdxZY 2,167,000
& 1,000,000
< 1,167,000
OSdd=dEMNssaAxd 1,300,000
= 600,000
< 700,000
OHYHLUENSSEAXYE 975,000
& 450,000
< 525,000
Loy MEXNSAE =4 715,000 585,000 130,000
& 330,000
< 385,000
403 X SHHS =0l & 715,000 585,000 130,000
& 330,000
= 385,000
01 XM A2E X 715,000 585,000 130,000




2N

Nu: o=mol HSAES
Sl HSAL 25 (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET
O=2&A0ESEXY 195,000
= 90,000
< 105,000
Os4ddsiet2E=s2szdxy 520,000
& 240,000
< 280,000
NeMsAd R 12,482,500 10,812,000 1,670,500
& 5,976,000
= 6,506,500
403 UtXSHHS =0l & 12,482,500 10,812,000 1,670,500
& 5,976,000
< 6,506,500
01 XM A2E X 12,482,500 10,812,000 1,670,500
OHFHMHAAZZHEHAE 1,929,000
& 890,000
< 1,039,000
OFFEHINZERSEAZH 400,000
& 400,000
OFFA U THMABEANL S 975,000
& 450,000
< 525,000
OMEZOMHAMS 224 E 2,600,000
& 1,200,000
< 1,400,000
OMEYSEXNCG=SEAS 2 E 247,000
& 114,000
< 133,000
OFASEANZIEFHI 776,000
& 358,000
< 418,000
oAz y 1,579,500
= 729,000
= 850,500
OE=2sL2sEsSLEHEY 975,000
& 450,000
< 525,000
OgszUIEIEXY 195,000
= 90,000
< 105,000
OSSHELUEMSANEES 1,235,000
& 570,000
< 665,000
OB} AELXEI2IYH 434,000
=1 200,000
< 234,000
OSHEAMNZANSZEES 162,000
& 75,000
S 87,000




EM MENEDL
= ol

Mo ool HSAES
SR HSAE 25 (29l 8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

OHLd=sE=IsH s HdEHFH 975,000

= 450,000

< 525,000
2T HEH=E AMEXR 2,590,000 0 2,590,000

& 2,590,000
403 XIS E X201 & 2,590,000 0 2,590,000

= 2,590,000
01 X SHHX2E= 2,590,000 0 2,590,000

OSFEHSHTE2STUENSAIE 350,000

& 350,000

OSFHES2STUEMSAE 350,000

= 350,000

ONESLULB L2 ZHENSAE 350,000

& 350,000

ONHEH2SSN2STUSTUIAIE 140,000

& 140,000

OZ2F=SU2SHUEUNSAIE 350,000

& 350,000

OB I=SHN2STUEBHIAIE 350,000

= 350,000

OB A2 HHEMSAIE 350,000

& 350,000

OS4E32Nt2ECZ2sZHEMNSAE 350,000

= 350,000
EOME AlE X3 ALY 1,200,000 1,200,000 0
403 MtXISHHES A0l & 1,200,000 1,200,000 0
01 HXSHMA=2E X 1,200,000 1,200,000 0

O20158 =B M & A& X & 1,200,000
HEAE cl22d At Y 318,000 217,000 101,000
403 XIS E X201 E 318,000 217,000 101,000
01 X SHHX2E = 318,000 217,000 101,000

OARENSAE X & cl22d 318,000
S M AL X2 133,000 97,000 36,000
f=Us =2 100,000 80,000 20,000
307 21201 A 100,000 60,000 40,000
02 B AEXRS 100,000 60,000 40,000

OMNAHSUOIAHY A EHE 2 100,000
=M A =R =X 33,000 17,000 16,000
202 Odl 3,000 17,000 A 14,000
01 = LH 4 Hi 3,000 3,000 0

OMNAHSUOIAHY A HRFA F UL 3,000
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=]

R
M ASNo HSHE
S I WA XA (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
308 XXt S0 A 30,000 0 30,000
01 IXNHHBNEES 30,000 0 30,000
OMAY=EIUSE 30,000
HYR2IZH (MSEED) 46,767 47,767 21,000
Jl23l 46,767 47,767 21,000
JlE2&l 46,767 47,767 21,000
201 L2l 14,637 14,637 0
01 At 2t 2l 14,637 14,637 0
OJ12=&Ht| 6,154
OJ12= &l 8,483
202 O4dl 32,130 32,130 0
01 = LH 4 4l 32,130 32,130 0
OJlautl 32,130
HREs(HMESHNEDL) 500,000 500,000 0
HEAHHK = 500,000 500,000 0
WEHH K= 500,000 500,000 0
702 JISEEZS 500,000 500,000 0
0MNII3EES 500,000 500,000 0
ON=sZEIISHE 500,000




